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1. Immediately after the commencement of the examination, you should check that this test booklet does not have any
unprinted or torned or missing pages or items, etc. If so, request for its replacement.

2. You have to enter your Examination Number on the Test Booklet in the Box
provided alongside. DO NOT write / mark anything else on the Test Booklet.
3. This Test Booklet contains two parts as shown below.

No. of | Marks Nature of Negative Marks
questions questions
Part -1 50 100 Objective One third for each wrong answer
Part — 11 40 100 Objective One third for each wrong answer Except for Q. Nos. 85 to 90.

Each item is printed both in English and Marathi. Each item comprises four responses (answers). You will select the
response which you want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each item.

4. You have to attempt all questions from Part - | and Part-11 [Q. Nos. 1 to 90] from 11 am to 1 pm only. You have to
mark all your responses for this objective parts ONLY on the separate Answer Sheet provided.

Under any circumstances attempting the questions cannot be extended after 1 pm.

6. Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, you have to fill in
some particulars in the Answer Sheet. This information is provided in your Admit Card.

7. After you have completed filling in all your responses on the Answer Sheet and the examination has concluded, you
should hand over to the Invigilator only the Answer Sheet. You are permitted to take away with you the Test Booklet.
You will not be allowed to leave the examination hall before 12 noon.

8. Sheets for rough work are appended in the Test Booklet at the end.
9. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE in Part | and Part Il EXCEPT
FOR QUESTIONS FROM 85 TO 90, WHICH DO NOT CARRY ANY PENALTY FOR WRONG ANSWER.

i)  There are four alternatives for the answer to every question. For each question for which a wrong answer has been
given by the candidate, one-third of the marks assigned to that question will be deducted as penalty.

ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given answers
happens to be correct and there will be same penalty as above to that question.

iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that question.
10. Please note that Part-1 of this paper will be evaluated only if a candidate secures a minimum 33 marks in
Part-11 and final selection list will be prepared on the basis of marks secured in Part-1 only.
11. Final result of this examination will be declared on or after 26.12.2015 on the website www.yashada.org/acec
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PART — I /97T - 1

Question no. 1 : In a land mark historic judgement on 14
September 2015, the Delhi High Court, passed which of the
following verdict?
1) Acceptance of same gender marriages.
2) Permanent commission of women in the Navy.
3) An unwed mother can claim guardianship of her
child without disclosing name of the father.
4) Recognition of the right to negative vote for the
electorate in the country.

U %, 1 : Welld Wi e faer (gt su
R 14 FaR 2015 & e S &t UfergiRie wgwman
ONar?

1) qufertt g ar=aan

2) A% goTd o1 HRTY AfRAPRISRT A=

3) Jfaarfea g fo=ar 9™ Urdieed AT afdaia

q1a | AT 99 M.

4) QT APRIHSD Hd AlcqugreT ATRHRIT qr=aaT
Question no. 2 : Arrange the following states according to
the decreasing order of their underground water resources.

1) Punjab — Telangana — Assam — West Bengal

2) Telangana — Assam — West Bengal — Punjab

3) Assam — West Bengal — Punjab — Telangana

4) West Bengal — Punjab — Assam — Telangana
e ®. 2 : Wiellel JIogrd] Yolereldied] IRl PHTAR
ol &,

1) USTE - 0T — A - gfeaw €t

2) TN - T - UfeEd el — UoTg

3) M - qfey el — USIE — oo

4) uf9ed el - USTE - 3T — JeRTorT
Question no. 3 Any expenditure charged on the
consolidated fund of India needs the approval of the ........

1) Parliament 2) Prime Minister

3) Cabinet 4) NITI Commission
9T 3. 3 : WRATT AT PRIGATAT DIUATE! Gaiell
........ il AT 3TMaLTd 3R,

1) Wug 2) gauu™  3) dfade  4) it smamr
Question no. 4 : Which of the following statement/s is/are
correct?

a) Textile industry contributes about 14% to India’s
industrial production and 13% to the country’s export
earnings.

b) The decentralized power looms, hosiery and knitting
sectors form the largest section of the Textiles Industry.

¢) Online sale of handloom products is banned.
Donlyb 2)bandc 3)aandb 4)aandc

U . 4 : Wiellerddh! PIort /at faer /3 awa armed ?

a) TSN AR Sienfie ST 14%  dR Q=T
frafa Scu=ra 13% aTer 3.

b) fadbfea dommr, ARRRY anfor favrem &5 aweiemar Hier
AT 37T,

¢) EIAHN IUTGATT 3MTeTe feht wRuamT &) ame.
1)waab 2)bamforc 3)aamforb 4) aamfore

Question no. 5 :

released the Global status report on road safety 2015 on 19

October 2015. Consider the statements in relation to the

report. Which of these statements are true?

A) In the last three years 79 countries have seen a decrease
in the absolute number of fatalities while 68 countries
have seen an increase.

B) Worldwide the total number of road traffic deaths have
gone up to 1.50 million per year.

C) The report has been prepared from information of 180
countries.

1) Aand B 2)Band C
3)AllA,B,and C 4)AandC

e . 5 : SIMd 3IRI Hoe~ (WHO) 2015 =T Ash

QRface dedid dftae sigad 19 affdeiek 2015
SRPTRIT Shell AT STEATeTRIGHIT AU A& &1, PIvrel! fer

T 3TeT?

A) e i qufd 79 Quri gefiear Tqpu AT e SFyaeh
3 TR 68 2T aTG el 3N,

B) SR e GHeAd dodl USUmuiil Ypur wear Hfcrat
1.50 SEEETRIq eft 31T,

oo

C) & 3rgaTel 180 QI HIfRd oo S-audTd 3MTell 3R,
1) A amfor B 2) B snfor C
3) A, B antfor C w4 4) A anfor C

Question no. 6 : The famers are provided credit from a
number of sources for their short and long term needs.
The main sources of credit to the farmers include.

1) The primary agricultural cooperative societies,
commercial banks, RRBs and Private money
lenders.

2) The NABARD, RBI,
private money lenders.

3) The District Central Cooperative Banks (DCCB),
The lead banks, IRDP and JRY

World Health Organisation (WHO%

tl

Commercial banks and

4) The large scale multi-purpose Adivasis
programme, DCCB, IFFCO and commercial
banks.

T . 6 : ATHIMT AT 3y J TEPBIBId] TRSTATSH

UAYRAST FRUN 3 AN M.
JYRIST RO UHReIT 37 Adrar Feraer gl

1) wafds Fft FEERl WA, ANt go T, uRfe
Irtor §1 (RRBs) 3101 AAHR

2) T, Reg d Mt gfear (RBI), @@t et
JATOT AAHR

3) foregr #egad! WgdR! dd1 (DCCB), 3nmft dar,
AIIRET (IRDP) 3for S3rRar (JRY)

4) Ao wWRTERIe dgoseitd snfqarft i, forear
qegad] WEdN! d§a1  (DCCB),  SIRAUthUshita
(IFFCO) 3for 2amart daa1

Question no. 7 : “It is a monster made of rock with the
head of a man and the body of a crouching lion, with its
fore paws extended in front. The figure is over 18 mts
high.”. The above description speaks about which famous
historical monument?

1) The Great Sphinx of Greece

2) The Sphinx of Assyria

3) The Sphinx of Egypt
4) The Sphinx of Mesopotamia
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U . 7 : ‘HIUKI Sip SN SaT G s¥ieied g aRR
g ged IR FAR Jactel I SRR SHfIeied ThIe{Ishies
Aol AR 18 Hiedan ST a1eft e’ g divrar YREiies
TP U 3R ?

1) 7 aefiet O v 2) afRaran v
3) sformem Rpaa 4) AR e
Question no. 8 : Match the following
Group | Group 11
A) Carbet National Park i) Madhya Pradesh
B) Bandhavgad Sanctury ii) Rajasthan
C) Sariska Wild Life Sanctury | iii) Uttaranchal
D) Manas Tiger Reserve iv) Assam
U9 3. 8 : SiieaT Jal.
T2 | T I
A) Free IET IaE i) qeT I
B) SHaTS IYIRTY i) I
C) AIR®T =g Si1g IMIRTT | iii) STRiae
D) A9 TY 3TR&0 iv) 3™
1) A-iv  B-ii C —iii D—i
2) A-iii  B-i C—ii D-iv
3) A-iii B-ii C-i D-iv
4) A—ii B-i C-iv D —iii

Question no. 9 : The Raghuram Rajan Committee was
appointed to study .........

1) the dispersal of industries and generation of
employment.

2) the agrarian indebtedness and improvement in
rural backwardness.
3) the problems confronting inclusive growth.
4) the regional backwardness and improvement in
Development Index of the states.
UeT . 9 : GRM o el FRger IS HRUYT

3Tt g,
1) S faaRor e AormRfAf
2) ocitelt fesla woferomigon efor gwior
ARTACIYUITT TR
3) WU IR IfEE AIeT FRvATie srsavft
4) yef¥e AFRIAUUn T Jreater et Rdarie
RO,
Question no. 10 : Read the following statements.
a) Quick Response code (QR code) is a 3-D code.

b) It was first developed in 1994 in Japan by an automobile
company Denso Wave.

c) Scanning of QR can be done by special devices only.

Which of the above sentences regarding QR code are
incorrect?

l)aandc 2)aandb
e . 10 : Wielldt faum aran,

a) Fae ReT=T dls (T IR Bis) &1 Bt ois 2.

b) S=A dg AT TEUTfId AR PHUAIGR SUFHY & BIS
1994 q&4 WM fImRic FRuATT ST,

¢) QR PIEd areF Iy AT del ST e

TR prorctt e gehrdt 3R ?
1) aamforc 2)asmfrb 3)banmfrc 4)a banfrc

3)bandc 4)a,bandc

Question no. 11 : Railway Minister Suresh Prabhu recently
announced that Tunnel Technology Institute will be
established. In this context consider the following
statements. Which of these statements are true?
A) The institute will be established by the Konkan
Railways.
B) The institute will be established in Goa.
C) It will be named after former Railway Minister George
Fernandes.
1) Aand B 2)Band C
3)AllA,Band C 4) None of the above
°eT . 11 : Yod 3l JRA U9 I Jadd THA Ao
TSRS T FRuTfaNdt G et a1 Hewld @refler
T AR a1, @t S fum w 3med ?
A) & 3Recgg PIH Yeddh T Bled.
B) & sRcce Meamed FUUT glsd.
C) foretm arft Yea Hat Siet wAifesT T A1a Juard Asa.
1) Aarfor B 2) B amfor C
3) wd A, Bamfor C 4) TRteTdh P ATEL.
Question no. 12 :The product life cycle from inception to
demise is shown in the graph. Match List I and with List 11

and select the correct answer using the codes given below.
Profit/

List 11 (Zone)
List | (Stage) Salesy sales
A) Product Development i
- ()] I
B) Maturity (1 —1
C) Growth iy (V) V)
D) Introduction < pro:fit
! Time

lost/Investment

¥eT ®. 12 : ScUICATd] oA o oidmRid R

AT SHa-ehral 3ol @ieft <effdarr ame. o1 g It 9
Iréteft et Sfr @Teft fieiean yafaitht arg Aiddia FasT,

T/ ardt g (fumr)
fercht

ISt 31 (<oT) [ fersht
A) Seare Fifdt O | iy /L
B) gt are vy
O 5@ 4 B
D) gear 1 o
et/ Jaauem
DA-I B-1V C-11 D—111
2)A-1 B-1V C-11 D-1I
3)A-IV  B-I c-1l D-1lIl
4HA-IV B-I c-1n D-1l

Question no. 13 : Upanishads are books on ........

1) Religion 2) Yoga 3) Philosophy 4) Law
U . 13 : Gl 31T,

1) o 2) g 3) d@s = 4) FRET
Question no. 14 : The ministry of Information and
Broadcasting reconstituted the Central Press Accreditation
Committee (CPAC) recently. In this context consider the
following statements. Which of these is /are correct?

A) The CPAC issues Press Information Bureau (PIB) cards
to journalist.

B) PIB Director General Vijay Malhotra is the ex-officio
chairman of the committee.

1) Only A

3) Both Aand B

2) Only B
4) Neither A nor B
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U . 14 : ARG I TRV FAAI hord aTdt HITHTE
aficht (CPAC) = Jocter grafenft dreft. ariewia @mefier
faemiar faR a1 9 rdier P/ J 3R/ ?
A) AT, THHRAT IR sTHHeH R afdd AR awd.
B) dt.ema«fl. Tt favrr degs g9 A ugRig arede
3.
1) Bad A
3) A anifor B grgt 4) AMATB
Question no. 15 : Which of the following states are
demanding special status?
1) Odisha, Himachal Pradesh, West Bengal, Assam.

2) Bihar, Chhattisgad, Zarkhand, Goa, Odisha,
Rajasthan

3) Bihar, Rajasthan, Goa, Madhy Pradesh, Uttar
Pradesh

4) Meghalaya, Haryana, Zarkhand, Karnatak, Goa
U . 15 : Welledeh! PIURi 5y 4R gif fyasran wgud
ool e amed ?

1) snfear, fRameRr, afem @, smam

2) fIER, BilwTs, ARGs, Mar, N1, I

3) fER, IR, MaT, ALIURLT, IR TS

4) YgTeT, A1, FRES, died, Mar
Question no. 16 : Identify the correct pair of genetic
diseases from the following.

1) Diabetes — Gangrene

2) Heart disease — Malaria

3) Haemophilia — Colourblindness

4) Blood cancer — Neural disease

UL . 16 : WieTaie! ORI M I St e,
1) AYHE - PII
2) TSI - galar
3) ferpRaaEa - LRy
4) FATIT BRI — DT T
Question no. 17 : Identify the rivers A, B, C, D, Eand F in
the map given below.
1) A-Kosi B-Ghagra C-Gandak D - Yamuna
E - Ganga F-Son
2) A-Ghagra B-Gandak C-Kosi D-Yamuna
E-Ganga F-Son
3) A-Kosi B-Gandak C-Son D-Ganga
E - Yamuna F - Ghagra
4) A-Ghagra B-Son C-Gandak D - Ganga
E - Yamuna F - Kosi

2) wad B

U . 17 : Rl AdIdd A, B, C, D, E 37for F a1 Fem
3NeseT.
1) A-aRft B-g"RT C -sd D - Ig1
E-Tm F-eo=
2) A-gFRT B -7sd C - ®Rl D - Igm
E-wm F-eo=
3)A-aRft B-7sd C-9o9 D-7m
E-3991 F - gm™r
4) A-9r"RT B-9M C-7tsd D - wm
E-3agmm F - &riY
Question no. 18 : Which among the following is an
indicator of the Human Development Index?
1) Education 2) Average L.ife expectancy

3) GDP 4) All of the above
9T . 18 : Wicilclich! PIUdT gch HMd Ao Fderaa

FHIIE Pl AT ?
1) fareror 2) R SgEt
3) T ST UG 4) T 9
Question no. 19 : Match the following.
Author
i) Sudraka
ii) Varahamihira
iii) Vishnu Sharma
iv) Amarsimha

Age
a) Amarkosha
b) Bruhad Samhita
c) Mrichcha Katika
d) Panchatantra
e) Hitopdesha

T . 19 : Wieliel Sirea e,
CECED PIS
i) gob a) SR
DENEEIR b) gecfedr
i) fersoggrat C) JEBHicd
iv) SFRRTE d) g
e) feduer
1) i-b, ii—e, iii —c, iv—d
2) i—c, ii—Db, iii —d, iv—a
3) i—d, ii—c, iii—a, iv—b
4) i—e, ii—a, iii—a, iv—c

Question no. 20 : Which of the following winds are cold
winds?
A) Sirocco B) Bora C) Khamsin D) Mistral E) Salano
1) BandD 2) Aand E
3) CandD 4)Band E
UeT . 20 : Wieflerdad! HIUd IR Mdar 3md ?
A)RR@I B)aRT C)wriF D) e E) Jor
1) B amfor D 2) A sfor E
3) C amforD 4) B afor E
Question no. 21 : What is the ultimate gain from
affirmative actions in India?
a) They promote social justice and equality.
b) They influence policy making
¢) They bring in more accountability in society.
d) They create a more homogenous society.

l)aandb 2)bandc 3)onlyd 4)only a
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geq . 21 : WRANIA fUed Py sifcma: o> A
gd?
37) e gefige ARG =aTd g |HaT aTed.
§) R SR =T u9e gear.
P) I FHTd 31 STRTRIcaTd! HIa=T JToTdTd.
g) O 3rftrs TRy FHTST Ao e
1) sramforg 2) g amfor &
3) Bad S 4) Had I
Question no. 22 : Which of the following statements are
true?

A) The tilt of earth’s axis of rotation as earth revolves
around the sun is the cause of seasons on earth.

B) Emission of carbon dioxide from burning of fossil fuel
is most likely a cause of rise in average temperature of
earth’s atmosphere in future.

C) The accumulation of stress along the boundaries of
lithospheric plates results in hurricanes.

1) Aand B are correct  2) B and C are correct
3) Aand C are correct  4) All are correct.

UeT . 22 : Wiefierdd! PV U™ T Mmea ?

A) gedt et YU RGO SIAMT GeATedT  gREHOT=T
SIRATT &t ¢ Gedlariel Fhgd BRUT 31T,

B) Sfiared SYFRAT e BT Pled S Jfa¥Tssd
S g ufdsgd gedtenr  ardTeRumedr SRR
TIATER BRUT IR, AP,

C) JTEIRUITEAT YOS HHR Feled] IReeredl FedHs
aree fomfor g,

1) A 3for B aRIsR 3R,
3) A for C RIER 3Mg. 4) [d RSN TR,

Question no. 23 : Who amongst the following was
appointed by Union Government as first President of newly
established All India Council of Sports (AICS) which was
given an equivalent rank of a Minister of State (MoS) in the
Union Council of Ministers?

1) Sachin Teudulkar 2) Vijay Kumar Malhotra

3) Krishna Malhotra 4) P. T. Usha
T . 23 : g ARGRA FdG URRAMT dotear iRae
IR shieT Afclar ke sreme weum @Tefierddt promht
R Bl ? AT AL D HATDT 5 H=ATaT goft feelT
el 3.

1) W= dgatax 2) fasa uR TegEn

3) PeuT HegT 4) . &. 3w
Question no. 24 : In India, rural incomes are generally

lower than the Urban incomes. Which of the following
reasons account for this?

A) A large number of farmers are illiterate and know little
about scientific agriculture.

B) Prices of primary products are lower than those of
manufactured products.

C) Investment in agriculture has been low when compared
to investment in industry.

1)Aand C
3)A,BandC

2) B anfor C sRIeR 3me

2)AandB
4)Band C

T . 24 : YRAHR JIYRIO ITIOT IUF g MET
IITIET HHT SRT. JTATS! ATATeAtDh! BV BHRON 7R ?
31) Iddp HISAT Y9N ANfAfAT emdd omfor @ el
yga At exugTETEd HHT ATl 3.
g) Wi Saeaar  fRudt ar sitenfie ScateHa
fepreiuan et 3R,
&) SenTuE AT Jaavs FHY .
1) 31 3mfor & 2) ramfor g
3) o, g & 4) g for &

Question no. 25 : The world’s first ever ant map, at
(antmaps.org), showing the distribution of ants around the

globe, was launched by which of the following
Universities?

1) Yale 2) Peking  3) Sussex  4) Hongkong
Ued . 25 : @ielleddl Pivkal faemdier Sdie Hrier

gfger afger e (antmaps.org) Aiger SaTd famcier g
faeRor gefquara amer amg ?

1) A 2) feh 3) W 4) g
Question no. 26 : Which of the following statements is not
true?

A) Painganga is a tributary of Godavari.

B) Nizam Sagar dam is constructed on Shabari River.

C) River Narmada flows through rift valley.

D) In Maharashtra Godavari basin covers the largest area.

1) Aand B 2)Band C

3) CandD 4)Aand D
UeT . 26 : Wielldl [JUMIIDh! PIoTh T AT ?

A) T & Meradi ol 3,

B) =1 R &RUT 9’} ASeR qieret 37T

C) TFHeT e e dTeet.

D) FERTYMEY Masiear W & Jafd SR 3T,
1) A aforB 2) B amfor C
3) C amforD 4) A amferD

Question no. 27 : The existence of Rajya Sabha can be
justified on certain grounds. ldentify the correct
ground/grounds for the same.

a) Itis the custodian of state rights.

b) It institutionlises the opportunity for the second
thoughts.

¢) It brings competent people in governance.
d) It prevents healthy debates and discussions.
1) ais true, b is false 2) dis true c is false
3) a, b and c are true 4) only a is true
e . 27 : I IRTad 9T T ABUIRT BIal
IR Wefl et omgd. WA Avg FHRUT/HROY
PO /proreht ?
31) ASTAT ST §eBTd R&fUT .
) gAARMG! ST deft <.
%) PRI ] AT FagRIT 3NN,
%) oo =t arefiacren uftser we.
1) I RR, 95 2) SR, & IH
3) 31, 9 Yy & R 4) Had I TRIE
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Question no. 28 : Match the following pairs properly.

Column P Column R
A) Galium K) Liquid nonmetal
B) Intencity of earthquake | L) Decibel
C) Intencity of sound M) Liquid metal
D) Bromine N) Richter
UL . 28 : Wiefial Sirean A RefiA .
wWY P YR
A) T K) Sy 31T,
B) sgehurdt e L) SRiget
C) ea=irdt e M) ST 9T
D) :ift= N) Reex
1)A-K, B-N, C-L, D-M
2)A-M, B-L, C-N, D-K
3)A-K, B-L, C-N, D-M
4HA-M, B-N, C-L, D-K
Question no. 29 : In an open economy, the national income
(Y) of the economy is ........ ; (C, I, G, X, M stand for

Consumption, Investment, Government Expenditure, Total

Exports, Total Imports respectively)

T ®. 29 : Gl AT, FAFAAY AP I

(Y) ? 3R R, (C, I, G, X, M g 3" S,

AU, ARPRI @, Tl i, Tgur ST Geffea.)
DHY=C+I1+G+X
2)Y=C+I+G-X+M
Y Y=C+I1+G+(X-M)
4HY=C+I-G+X-M

Question no. 30 : Which amongst the following statements

are correct about cricket?

a) During the reign of Queen Victoria, the game was
introduced as the standard summer sport in English
public schools and universities.

b) The modern weight of the ball was laid down in 1774.

¢) The cricket helmet became an essential part of a
batsman’s attire in the 1970’s.

d) Trousers replaced half pants during the 1st half of the
19th century.

e . 30 : Wiclledd! Pl g™ fhdeaar Iod amg

3 ?

a) ol fegaeIRareaT Ioaia &1 W Sferer ufeetds 2mesT 3mfor
femdierd el TN W Feud G PRUATT ST,

b) 1774 A&d gD IMYFH gor oxfdel e,

¢) 1970 =T TAHMEY ‘ReHc’ ThoigraTred] TUAeTaT e
HIT AT,

d) 19 @ qerar dfgedn mehi qdld  gihucd! ST
efier udett
1a,b,d 2)c, b, d 3)a,c b 4)a, b, cd

Question no. 31 : Which of the following is not a

characteristic of tropical cyclone?

A) Pressure gradient is very steep.

B) They are large in size.

C) The direction of wind in Tanzania is anticlockwise.

D) The cyclone travels from east to west.
1) AandB 2)Band C
3) Cand D 4)AandD

UeT . 31 : Wlelleltdh! Il dfimerl Iwrsfedela amaardt
AT ?
A) TETT IAR g Ir=ar.
B) i & A3 3.
C) arardt feen ersnfamed uftrafead R
D) afact gdergr ufeemars TarT .
1) A 3nfer B 2) B amfor C
3) C amfor D 4) A3nfer D

Question no. 32 : Which of the following is the latest
contribution to India’s foreign policy?

1) Look East policy

2) Demand for a permanent seat in the UN Security

Council

3) Act East Policy

4) International Yoga Day
U . 32 : YRATAT URTY RO 3fefihed DI gchrd!

IR TSl MM ?

1) ydes ugr

2) WY AT GRATIRYST HIIH AERIcardt ARt
3) gt et e

4) ITRTE AT =

Question no. 33 : Read the following statements.

a) ‘International Thermonuclear Experimental Reactor’
(ITER) project is founded in collaboration by America,
China, India only.

b) As a part of this project a reactor named tokamak is
being built up in France.

c) It is proposed that it will consume 50 MW electricity
and produce 500 MW electricity.

d) Isotope of oxygen on atomic fusion will produce such
large energy.

Which of the above sentences are true regarding ITER

project?
l)aandd 2)bandc

Ued . 33 : Wielldl fJu™ ara.

a) SRR Uil uifies wgt (ITER) Wbeurd!
AT e SMRET A9 g R i A 3R,
b) I SUHHRT AN FEUT CIpHe AETdl UUST B I
YT I 3N,
¢) 50 MW &5 @dg 500 MW a5 TR Eisal 3R TR
FROT 3Tel 3R,
d) aAifegorrear wHeTfbrear FHleFg el |y Sl
fefor grger.
ITER Susprregeft a¥iaddl Horcdt fTum T aimgd ?
1) a 3mfor d 2) b amfor ¢
3) a amfor b 4) a, b amfor ¢
Question no. 34 : Agriculture income tax is assigned to the
state government by .......
1) The Finance Commission
2) The National Development Council
3) The Inter — State Council

4) The Constitution of India
U . 34 : PN IUF PRNIC! I5g WRBRAT el .......

T et
1) fa= smam
3) 3aR-IT uRue

3)aandb 4)a,bandc

2) WE et aRug
4) YRR ISggeHT

[6]
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Question no. 35 : In the Gupta Age, the daily commaodities
were available in exchange of ........

1) Cowries 2) Copper currency

3) Silver coins 4) Gold currency

UeT . 35 : TH PIOM oD SUGFT TR ........ T IS
IuY B 3.

1) Hast 2) 91 g

3) oI AToft 4) qavf g
Question no. 36 : Match the following.

Coal Deposits Countries
A) Shanxi i) Germany
B) Ruhr basin ii) Russia
C) Queensland iii) China
D) Irkutsk iv) Austrelia
UeT . 36 : e e,
BB ATS 2
A) T i) ST
B) ¥§ @R i) <frm
C) Ffi=acis iii) 9=
D) Repcwd iv) aregferan
A-I B —iii C—ii D-iv
2) A —iii B —ii C-i D-iv
3) A —iii B-i C-iv D —ii
4)A-i B-iv C—ii D —iii

Question no. 37 : The role of BRICS bank is ........
a) to create a parallel financial system in the world.
b) to reduce the monopoly of IMF and world Bank.
c) to provide assistance for development to poor countries.
d) to create an economic power block.

1)onlyaandb 2)a, b,cd

3)onlyd 4)onlybandc
ued . 37 : foad dovdt fia ........ 3T,
37) ST FHIAR 3Nffep egaveer fEfor o,
) INARTER ARt g STIfers b it AagRT HHY FRon
P) TN AT APRIATST AR Ao,
3) anfefer Tamre fRmfor @,

1) werd 31 for 2),9,F,3

3) HIB T 4) Fass 9 IO &
Question no. 38 : Virus having RNA as a genetic material
iscalled as ........

1) Retrovirus 2) Rotavirus

3) Protovirus 4) Transposons
U9 . 38 : [ANUHY R, . U TURGHT Uqref M 37l
[EEILUGIIN EURI

1) wffarTop 2) e ATy

3) amfafimoy 4) FUSI
Question no. 39 : Which one of the following ‘Smriti’s is
regarded as the official law book of the Guptas?

1) Manu Smriti 2) Yajnavalkya Smriti

3) Narada Smriti 4) Brihaspati Smriti
UeT . 39 : Wielalud! HIURAT FRT & [HeIel Iferdp

PIIIT JRIh FgUT STl ST &Il ?
1) At 2) grsiaead i
3) ARE Hfay 4) gewufa wfa

Question no. 40 : Which of the following are manganese
ores?

A) Limonite B) Pyrolusite C) Siderite E) Rhodochrosite

1) AandC 2)BandC

3) Aand D 4)Band D
TS . 40 : WlAledd! HIvd F-ord @ 3ed ?

A) foriige  B) tRRIgEe  C) fqevige D) rsihiiise

1) Aaforc 2) B amfor C

3) A &forD 4) B &for D
Question no. 41 : The Public Accounts Committee is
expected to ........

a) provide a link between the parliament and executive.
b) assess the needs of the states.

c) actas a mediator between Lok Sabha and Rajya Sabha.
d) Prevent unlawful expenditure by the executive.

1) only a 2)only b 3) only d 4)aandd
e . 41 : Wehled! PIURAT ¥l AheRgIHd  BHRor
TR 318 ?

37) |G ST BRIBRY HE® IredTcliel AT FaULT BT brul.
) AT TRST GRIET0T O,

F) AT T ST AT Feaweeft o,

3) PRGN Heorl JhRICR @ Afafo.

1)BFa A 2)Badd 3)BaFds 4) JAfrs
Question no. 42 : Liver, muscle and adipose tissues are
affected by ........

1) progesterone 2) Glucagon

3) Androgen 4) Insulin
T ®. 42 : IPd, FR MM HSIARR .......... a1 giRom
g

1) WIS 2) BN 3) (g 4) Frgfe

Question no. 43 : Which Chalukyan town is known as the
“Town of Temples™?

1) Aihole 2)Badami 3) Kanchi 4) Pattadakal
U %. 43 : DU TAGIE IR CHRE qwW” /U
aNesxgel ST &I ?

1) B 2) gert 3) widt 4) ugsHal

Question no. 44 : Which of the following combination of
symbols represents the same sheets or charts?

U F. 44 : WAld! Aldbfad g DI THHHRT
JaFATT TRISR MM ?

n»0 © O
)R & S
3)RF GC R.H.
)y = — =

Question no. 45 : In which of the following countries the
Shanbag movement is active?

1) Bangla Desh 2) Pakistan

3) Afganistan 4) Syria
U . 45 : Welad! BT AT AN DA% Hehid
e ?

1) qRTET 29T

3) IHMORAE

2) urfhea™
4) Rl
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Question no. 46 : Which of the following is a scalar
quantity?

1) Force 2) Velocity

3) Pressure 4) Acceleration

U9 3h. 46 : Wlatleddh! PIorct J1eft 21fder amg ?
1) g 2) Tt 3) q@ 4) wam

Question no. 47 : The Junagarh Rock Inscription of
Skandagupta in Sanskrit is written in praise of ........

1) Vishnu  2) Indra 3) Shiva 4) Agni
UeT . 47 : TP TheHr JARTS Meerd g ....... =
citexan ferfeel amed.

1) sy 2) 3% 3) fora 4) afa

Question no. 48 : The area of a tropical rain forest is
largestin ........ river valley.
1) Nile 2) Mahaveli Ganga
3) Zaire 4) Nigro
UeT . 48 : SWIGicaeT aufara & ... T @
Hatd SR 3R,
1) A 2) Agelt I
3) IR 4) fam
Question no. 49 : Consider the following statements and
choose the correct alternative.
A) One does not find double citizenship in the Indian
Constitution.
B) Indians are culturally plural and diverse but politically
they constitute one nation.
1) Alis true, B is wrong
2) B is the correct explanation of A
3) Both the statements are wrong
4) A and B both are true
T . 49 : Wielldd U™ fard =1 9 gy yafg fAasr,
37) YRR AYFTT Gavt AN 3G Tal.
) R cileh dgel ARpiciep T fAfALre 3ielet SATad qur
SThIT gEeIT W UepTd /YR BT 3TTed.
1) 31 WK, T .
2) 9 g 31 T AT RPN ATR.
3) 3 Y™ g 3mad.
4) 31 3for 9 gl fu™ SRR,
Question no. 50 : Which of the following are sensitive to
sulphur dioxide pollution?
1) Algae 2) Mosses  3) Lichens 4) Ferns
79T 3. 50 : TEHR S eRITSST UGNUITeAT Wleflerdehl prom
Hagrefier SrFaTe ?
1) e 2) "

3)slad  4) T

PART — Il /4mT - 2

Question nos. 51 to 53 : The supervisor would have to first
change his attitude towards people. The staff under him
must be perceived as human beings with feelings and
needs. They are not autonomous within a complex work
machinery. One of the greatest needs of a worker today is
to have a feeling that he is in control of his workplace and
not vice versa. The best way is to satisfy this need as far as
possible. Firstly, he must feel that his work is meaningful.
To do this, the supervisor must delegate responsibility and
give limited authority to the worker to execute his job well.

The worker must be properly trained to assume
responsibility and authority. Once he is ready to assume
these, he can be made accountable for his job. Very often
supervisors assume all responsibility and accountability for
the fear of losing control of the workplace. This reduces the
workers under him to pawns on a chess-board. Delegating
accountability gives the worker a purpose in life and creates
in him the need to do the job well. The most important
thing to do is to sit with each worker and chalk out common
objectives and agreed norms to achieve them. This makes
workers secure about what is expected of them. Thus, when
he meets his objectives, he certainly has a feeling of
achievement. This sense of achievement is the greatest
motivator.

51 : Supervisors do not delegate responsibility and
authority to their subordinates because ........

1) the final responsibility is theirs.
2) subordinates are not capable enough.
3) they can’t trust their subordinates.
4) they are apprehensive of losing their hold on the
workplace.
52 : The greatest motivator is ........
1) the fulfillment of purpose.
2) a sense of security.
3) a good supervisor.
4) a good environment.

53 : A humane attitude on the part of the supervisor
towards his staff is necessary to ........

1) keep them happy.

2) get them to work.

3) get the best out of them.

4) have a congenial atmosphere at the workplace.

T P. 51 o 53 : Ay gdsidren Alpifavdid amuett
Il et AR, YT gIaRaTerd @idh & FST 3R T
WEHT g TR 3MTed @ el 3RTl UTfeel. o gl Siciel drRi
IS TR W AeRd. STl BERRT T dafd Aot
TRST TEUNST & HTEHT Y T BETE ST T J1eaTd 37T,
& T Y a1 e dreurd 9R. & A Wafte TRl qHE @
FaTd ITH. TLH TAT 3R aTcel Uifest Bl T B g A
AR, & PRUGNIIST WIdeip AR SEEGRT R <dTel
T Hfd sieRE Rt wiitod w=o @ ol &
TARRIT IR ITSe. MUl SEEERT g 3MUel MfIPR fadrar
I IS JTAT ART e ot uifde. Siegr @ @
RgprRuag fIg B3eT degl Tell AT HHIfAES JeeeR
AEAT USA. FEdD dosl UAeRh Wd:d Hd  SEEGN
FfatE T od SRIAl TRIR el BT SRRl d1el godl
areft rer it 3. U ATRAT BRI PR & hdd
JEESERAT UCENle Alg] A, sSR!t A foeam
BRI SR T el UTH gl 371 3ot HM Fafed
PRUITT RS odlel dled. U PINRERIER a7 A
R g0 g J UTH PRUIRT AT 3RTelel R SATedT FHTao
g Fald AgWr SMg. AT IR ATApgd o e
3 T WHT ared. A Siegl i1 feelel & quf g At
AT I AT AU dled. 89 FHIUN A6 dafd
I} UROT 3R
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51 : WA&d IMUTT HASHT STEESR! <d AATard DR ........
1) 3ifom STeTeeRt @i aRm.
2) B8 PrRiem TRIaw.
3) AT HESER fAarT Fwal.
4) U1 g ATUPR g Sser arelt i it
3.
52 : {afd At IROM ... g 3RT.
1) Qg AYUCIT™ FHTI
2) R Hra=n
3) 39 gAaers
4) I qgiaRor
53 : RAe™ HHaraifawl g gt IR TR 3
1) T @Y1 STVATHIRAT
2) T P ATAUATR R
3) wrEAThgd I HfoRiTg fAsfavaresiar
4) HrTea f3Foft srEe ardaTaRvT JqUaTEHRAT
Question nos. 54 to 56 : One of the greatest delusions of
modern times is the prevailing belief that we are more
civilized than our ancestors. At no other period in the
history of mankind has the word ‘Civilization’ been so
often misused and misunderstood. It is not in the abundance
of material goods alone that civilization lies. Neither does it
consist in the advance of scientific knowledge however
amazing it may be. The inventions and discoveries of
science have undoubtedly brought unheard blessings and
comforts to us. But they are not civilization. What we have
failed to see is that civilization is a special way of human
behaviour, of thought and feeling. The essential quality of
civilization lies in the spirit of man, in his attitude to
himself, to his fellowmen and to life as a whole. Looking
everywhere around us today, we will find that man has
made no progress since the dawn of history, in his attitude
towards his fellowmen. On all the highest pillars in the
cities of the world, you will find the figure of a conqueror
or a general soldier. We know more about our Killers and
destroyers than about our saviours and saints. The heroes of
the world are the heroes of war.
54 : According to the passage what does civilization consist
of?
1) Inventions and discoveries
2) Possession of goods
3) Advanced scientific knowledge
4) Man’s attitudes and behaviour
55 : What does the word ‘delusion’ mean?
1) Real truth 2) Wrong belief
3) Correct statement 4) Misplaced interests
56 : The main purpose of the passage is to convey the idea
that ........
1) modern man is more advanced in scientific
knowledge.
2) we are in a more comfortable position than our
ancestors.
3) modern man does not possess any attitude
different from that of his ancestors.
4) we respect our heros of war, our conquerors.
U9 3. 54 T 56 : MY PIoKiIed T Aaia AT TH FgURl
[T yEfeld Sfelel AG Pl AU AU YASIUE SR
GO IR, MG SIS DIVATE! PISI Tl &l
IfecT Uaal INATR o &ATfewl Sl INHST STell et

Sl TEUS A Hifde ATemd Yerdet Ao fohar defen
S Tl el Sy oRTelt oY gl . faeder
e FRICE MueaT STRISITT deft 1 Vaheted GfaeT  TRM
3N MR, R TTEY M} Teurel el ey, S MU AT
g A T g Al Tguret aehelt, RERih g e
T faRE ggd. S¥pdiar qoyd U g Amdrear Tgdid,
T T vt gedta, e Aoyt gada smfor
e SIS geiia SRl JMueHT ASENE dTfeet
AT SR fdd H sfEm=m  URYUREm A
AATTITAAT geitcl Drelal Wi dhetell ATgl. ST ARl
T4 99 9 WiEiaR e e fhar dfvee gas
SNMGRATd. MU AT g ATEY e TreaTien TR Aifeet
MU 3TNl TR d feave arear fawdt smd.
SR RUTR FgUTST e JEIaiiel JUISR HIel 3TTed.

54 : GRTSSIIHTO! PHIoTT M A TG FHIAE MR ?

1) HeMes 2) ITGHTaNIeT HIeTd!

3) W oy T 4) ATat gt g ac
55 : “gR’ 7 9reqra 31 H?

1) &R GG 2) g fAeam

3) arg faum= 4) gt as

56 : URTUMET & o & by qffdd! bl ......
1) YRP AT g1 T FEMEY AfdE W SR,
2) 3T AYTAT ESTUET IAfF FESEd IRFRRIT
3TEI.
3) sngﬁ'cﬁ 9Ma Ul YISTiUeT R el qrea

4)ancrana13nqwa°l'\rreraa Sicgigga A e
3R.

Question nos. 57 to 59 : Man enjoys the gift of speech and
the ability to think. Yet by certain actions, man shows that
he is thoughtless and lacks imagination. He causes much
suffering to dumb creatures without meaning to be cruel.

Think of all the happy, wild birds flying freely, enjoying
the open sky and living in the dense forest trees. Man
catches a bird and imprisons it in a beautiful cage. He
thinks that the bird will be happy if it gets a lot of food and
fruits and a clean cage to live in. Man fails to understand
the bird’s feelings. The little prisoner no longer feels like
singing its songs of freedom and the joy of living. If it
could speak, it would tell man how sad it is, cooped up in
that small cage. To the bird, freedom is more valuable than
food and comfort.

How can man be so thoughtless when he boasts of his
superior intellect? He should understand the feelings of the
dumb animals and birds and treat them with kindness and
sympathy. Most children amuse themselves by teasing,
troubling or torturing dumb creatures in captivity. It is the
duty of parents and adults to teach children to have the right
attitude towards all living creatures. Thus, we can hope to
establish a friendly atmosphere between man and the other
animals. Man then need no longer be known as the enemy
of all creatures.

57 : Why is man said to be thoughtless?

1) because he imprisons the birds.

2) because he loves birds and their singing.

3) becouse he has ability to speak and think.

4) because he fails to understand the feelings of

animals and birds.

[9]
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58 : Where animals and birds are concerned which of the
following is not true?
1) Man is superior inintellect.
2) Man inflicts suffering on them thoughtlessly.
3) Many children torture creatures in captivity.
4) Children are taught the right attitude towards all
living creatures.
59 : The imprisoned bird ........
1) is happy to get a lot of food.
2) wishes to tell man how sad he is.
3) values freedom more than anything else.
4) all the above.
¥eT . 57 O 59 : HUNICN FHNUT AT IS faR

PRUGT ARG T8, TRIE! Pl Heiiaeld HIURT & SRIGT aall bl
FT d rfaRTon FRar T AT Heaerardt B dRa
TR Tl 3 HET SfaT, T HA QYU HIeHT ARl
Y A .

SATEPTATT ST Had HAR BRUMAT ST ST Tl
veren faeR @1, AU galt gebedl Sfor i fUSI |
PRAI. AT 3R TS DI & U&ITel 3, Hhod HRYR Wil
fierelt aTftr waes fiSRT EEe fiwsien &R ar s e,
HIURATETT U&ITAT HIGAT e 2Aehd ATal. &N fisT=aTdean gedmet
TR ST AT MO AT AT TR, SR e derdl ad
I TR A T 1 fUs=ae g fobelt g i 3T 8
Fifiel oI, T UEINITS! ¥aI=T § AFlel of ST STRT
A& ST AgaTd 3R,

AT AT U] @l e A ared! ard gt
Rt T I Mepdll ? ATl &I JadT H10ar AT geai
T Feel Uifes oM @M wrearelt camedur ey
FEPLNYED arTel UIfeSt. ST AT 3fem JaT SHERl
Uehgl fSquard, I QUITT AV Iial Bo PRUAR  HoIl
gTed. golral JaIT SHERIaSA g al el Mo axuarh
i Jreara #Equl ardra]er o giger ereft amour arem
&R QTpell, HIVRITET HTOTET ST AU TR JRUIR ATE.
57 : TV STfaT T Fgeel 3R 2

1) HRUT ar g o= 3adr.

2) SR Ter yaft g i T 3asa.

3) BRUT Il FUNURN o7 IR Hxuarl e

3.
4) RO dF Uit g gaft Jiear wiEAT WHeE IR
3R 3R,
58 : Tofl g ueft I Feuld @refladdh!l P UM sRisR
ATE?

1) AToH gigueia W= I8,

2) WU SAfrERIgur T J @l

3) 3M® YoI SIS U0 BS HRAT.

4) 9 SaqeEagear g gEie firdaen Sl
59 : fUsi=arcer el ...

1) WRYR 37+ ARSI Ger 3778,

2) amqur faedt 3 SR § ATURATEAT [T

3) A BATE! V&I FT=ATeT Haed al.

4) FIH wd gAtg

Question nos. 60 to 62 : Dr. Kiran Bedi is the first lady to
qualify for the Indian Police Service (IPS). The qualities of
honesty, courage, empathy for fellow humans, hard work,
determination and patriotism are the ones that personify this
unigue woman.

Bedi had a hard time getting her way through the male
dominated profession. She saw in her role as a police
officer an opportunity to help the people, to show them the
way to a better life. She applied this philosophy at every
stage of her career as a traffic cop, an anti-narcotics cell
officer, an anti-terrorist specialist, and an administrator.

Bedi did not fear anybody. To her the law was the same
for all, be it the President of India or a commoner. It is said
that she once towed Prime Minister Indira Gandhi’s car for
parking violation while she was on the way to the United
Sates.

The greatest challenge to her philosophy came in 1994
when she was promoted to the rank of Inspector General of
Prisons and given the responsibility of managing the largest
and most notorious prison in the Asia Pacific region — Tihar
Jail in Delhi where the inmates numbered about 8,500. She
would shock prisoners by personally visiting them, talking
and listening to them.

Bedi can be rightly acclaimed as the woman who
scrubbled the dirt off the khaki of the police force by
establishing herself and her life as an example worthy of
emulation.

60 : Which of the following is an example of Dr. Bedi’s
quality of empathy?

1) Visiting and talking to prisoners

2) Not fearing anybody

3) Managing the Tihar prison

4) Being successful in a male dominated profession
61 : Which of the following was Dr. Bedi’s greatest
challenge?

1) Being the in-charge of anti-narcotics cell

2) Being a traffic cop

3) Talking to the prisoners

4) Managing the Tihar Jail
62 : Which of the following statements is correct?

1) Kiran Bedi had no sympathy for the common

man.

2) She got through the male dominated profession

very easily.

3) She could manage about 8,500 prisoners.

4) She had different laws for different strata of

society.
" . 60 o 62 : T fwor 9 1 YR Nferd gerretar
(IPS) ufgear #Afgenm ofUdR. @RUm, ued, AT,
HETRUAI, TSRO g Qe & AT SAfgeiiy S ureiamr,

T QRN JadRd MUl de Muw g o aaT
JEEST B, WY ST Uiferd SR b i)
AIBHT FERI IROAR g bl IS GURTITAS! dre
grgaugTEt et uiiRefl. &9 I il snuedt eI
TS IR U dTEgd  SUBRI, el ugred foRied
TaATcher MfUmRY, snddmars ARt s a wedes sRdmT
ST,

ST proEE it Fegdt. RO PRIGT @ darAdt
AREE 3RAAl, W d AP S a1 dl AHEI A S
3RT AT 1 g gamer sfiAdt sferr meft waner smfehe
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frarear s Qi gorear et It bereft e I
JAeL e,

AT qEe TR OAEE 1994 HY A iferd
HEIRIep  (JO7) TBUH 9! SedieR fAwrel. DR T
TR Eeldiel Faid AISAT g Fald Plavedrd ol SaEaR]
QU el - O U g fieR @RmE, w1Y 8,500 el
B, Ja Siegr b wd: ugd, el S, i g
Ve T degT e Yerd S 3T,

60 : Wil P faur ef. 3 Jied WARI o
SSTERYT 3?2
1) FeiET Ao g wieanet giemr.
2) PIVTEATE! 7 ETEROL,
3) fER Sier avATTT RO
4) THT THY T I It o,
61 : WicTieTih! PO S< AT Fatd HIS 3TegH 3Rel ?
1) 3relt ugref faRvefht e U S,
2) TTES Ul IR
3) erieft qreron.
4) fIER Sicre TEwATIT AIHTS0T.
62 : Wietlerdh HIvrd T FRIaR 3mR?
1) fvor &1 WM AR FEE wREryE
Tega.
2) T BR WA U1 JHY U FavAd AHIGT.
3) §AR 8,500 FHeTa i IR P
4) Tt FESITAIT FATedT AP P R
GICH

Question no. 63 to 66 : Find the odd man out
U9 . 63 I 66 : ORI g 3w,

63 :

1) 2)

O | VIRVIN

3) 4)
64 : 1) 400 2)4 3) 4000 4) 40000
65:1) NECK 2)EYES  3)HANDS 4)CHEEK
65: 1) 9 2) 3D 3) g 4) M
66:1)NOL  2) TUF 3) XYB 4) STH

Question nos. 67 to 69 : Which number / group of
alphabets / figures amongst the alternatives will replace the
question mark in a sequence?

U . 67 O 69 : HifcrhHed HeAfa=grear Sl yafardter

DIV TReAT / GoIeRET e / Ml At ?

67 21, 23, 29, 47,75, 2
1) 110 2) 103 3) 99 4) 115

68 : XWVU, SRQP, 2, IHGF
1)KLMN 2)ONML 3)MLKJ  4) NMLK

o
69 X X f)
o X [x o
)
X X
o X lo o X o
1) 2) 3) 4)

Question no. 70 : Asmita, Babalu, Chetan, Daya, Ekata
and Farukh are staying in different houses in a row. Farukh
and Daya are neighbours of Bablu. Ekata is a neighbour of
Chetan and Asmita, who is not a neighbour of either Farukh
or Daya. If Chetan is also not a neighbour of Daya, then
who are neighbours of Farukh?

1) Babalu and Daya 2) Daya and Chetan

3) Babalu and Chetan 4) Babalu and Ekata
U 3. 70 : AT, Jac, I, ST, Tl MMM HRE g

ThTd AT AT BRI JTgald. W ST ST § 99
ISTRY 3TRT. Tl & A Sfor orfeya, St wrew fhar g
I IOt AT, @ AR SR, SR Adgel QT AR

T TR FRE AR PI0T 3-AT ?
1) sae 3for gar 2) a1 afor e
3) Fae 3for T 4) S ATIOT Taa

Question nos. 71 and 72 : K, L and M are the three
persons who have worn shirts and trausers of different
colours. Trousers are having colours Pink, Blue, and White
where as shirts are Red, White and Buff coloured. No one
has worn the pants and shirt of the same colour. K has not
worn Pink pants while L has not worn Blue pants. M has
not worn White pants while L has not worn Buff shirt K has
worn White shirt then,

ueT . 71 ofdr 72 : K, L 3nfor M & = =afadt
PRI e ods nfor des] aTdedT emed. U™ o
T, [T 9 gie]r og R Ay, e, Uiedl 9 9% I
31, PIUfiE! Tepra I Ue g o aTdelel AR, K 7 et
de grdell ARl @R L 7 et de ardele Al M F uiedt de
grdel A @R L 7 9% AmEr 9 gideler el K T O 9
HTdel IR, T,

71 : What is the colour of the pants which M has worn?

1) Red 2) Blue 3) White 4) Pink
71 : M 7 gidciedT Year I HIvET 31g ?
1) @ 2) fAer 3) gieNT 4) TaTEt

72 : Which of the following triad is correct?
1) K — Pink pants — White Shirt
2) L — White pants — Red Shirt
3) L — Blue pants — Red Shirt
4) M - Pink pants — White Shirt
72 : QATATDH PIoRT B aRIER AR 7
1) K — Tt e - uigsr o
2) L — giedt e - &re o
3) L - et de - arrer ord
4) M — TeTeY de - giewT o
Question no. 73 : If in a certain code language ART is
written as 22203, then how will the word JAM be coded in
the same code language?
1) 15312  2) 12315

3)21351  4) 10112

Downloaded From: http://iasexamportal.com



Downloaded From: http://iasexamportal.com

U . 73 : SR Tl Fibfdd W™d ART & 22203 3T
forfeet ST, R JAM &1 9Tec. ITa Fichfad YT e forfea
TS ?

1) 15312  2) 12315 3)21351  4)10112

Question no. 74 and 75 : In a certain code language, the
word STAKE is written as 72415 and the word STEAL is
written as 17495. Then —

UeT . 74 M1 75 : T Aidbhod W™ STAKE & 916
72415 o fafgdra emfdr STEAL @ oreq 17495 ol
forfeer Smar &) -
74. In the same code language how will the word LAKE be
written?
74 : 19 Aibfads 9N LAKE &1 95 et fefgar sidet ?

1) 9249 2) 9417 3) 2417 4) 2419
75. How could be the word LOST be coded ?
75 : LOST & 91eg T forfgetl ST erdvet 2

(A) 2375 (B) 3597 (C) 5967 (D) 4657

1) A or f&a1 B 2)Bor fdar C

3) Aor fdar D 4) C or fdsar D
Question nos. 76 and 77 : Suresh is facing east. After
turning 90° in anticlockwise direction, he travels for 8 km.
Turning to his right he travels 2 km. Then again turns right

and travels 11 km. Finally turning to his right he travels
6 km.

UeT . 76 MU 77 : JA YEdHe dis P IAT A

gfrafead fgM 90° @ Iy o 8 Al T A
Iofdtepe ey o 2 T e, FoR grgT Sordids acel 3T
11 et e, eraet Qe Sories awd 6 fh.AT. e Ww,

76 : How far in km is Suresh from his starting point?
76 : R AT IR FIgURET fopett fop Y. R @ ?
1) 27 2) 13 3)5 4) 10

77 : If Suresh wants to travel to the starting point in which
direction he should travel?

1) North east 2) South east

3) North west 4) South west
77 : SR IRAAT ARY foigeps SR 3iet a) dl Pioredl fgre
TIRT IR ?

1) =g

2) 3mY 4) Y=

Question no. 78 : What is the type of a quadrangle whose
four angles are x + 47, 2x — 17, 2x — 3 and x + 33
respectively?

1) Rectangle 2) Square

3) Parallelogram 4) Trapezium
UeT . 78 : SUT TIHME TR dH g X + 47, 2x — 17,
2X — 3 37T x + 33 3MRd Tl PIVIAT FHRAT TIDIA 3RIA ?

1) I 2) 9w

3) FHIRYST dpe 4) g A

Question no. 79 : Kalu does some work in 24 days whereas
Balu does the same work in 48 days. How many days will

3) Iy

be required if both Kalu - Balu do the work
simultaneously?
1) 12 2) 22 3) 20 4) 16

U 3. 79 : B PIal M 24 faama wal TR I 7 D
48 R . SR PR~ A+ T I8t T B Pl T
el feawr el 2

1) 12 2) 22 3) 20 4) 16
Question no. 80 : How much will be the difference in the

interest if I 25000/ is invested for two years at 8% per
year with simple interest and compound interest?

e . 80 : T 25000/~ TATEY. 8% XM SF Iuiapvdl
HRS IS g Fshale M Ydedrd fesun=am earsird febet
TR IR ?

1)X 150/~ 2)X 160/~ 3)X 260/~ 4)% 180/~
Question no. 81 : In APQR m£QPR = 70°. Sides PQ and
PR are extended. The angle bisectors of exterior angles Q
and R meet at S as shown in the figure. How much is
mZQSR?

W9 . 81 : APQR F&I mZQPR = 70° PQ 3rfor PR &1
ST AGIed. DA Q MO R ° PFGHISD ATl
RIS S g&) fAiedrd. a” m£QSR? el 3Ryt ?

1) 55°
2) 65°
3) 45°
4) 75°

Question no. 82 : What is the sum of the angles at the point
A, B, C, D, E in the following figure?
W9 3. 82 : Wiellal 3fepeiia A, B, C, D, E & fiiguneft grom=a

PIT INST fpeft 3¥eT ?
N . 1) 360°
E 2) 180°
3) 90°
4) 270°
c
D

Question no. 83 : The ratio of today’s age of Ram and
Rahim is 3 : 2. The ratio of their ages four years ago was
5 : 3. Then how much will be the difference in their ages 4
years hence?

U9 3. 83 : M I A Fiear Srered] qu [UIRR 3 ;2
3Te. IR YT AT g IR 5 @ 3 B, TR IR a9
ITeT ATl BRap el Siet 2

1)8 2)6 3)9 4) 4
Question no. 84 : When a sari is sold at ¥ 2400/~ 20%

profit is gained. For how much it should be sold to get a
profit of 30%?

9T . 84 : U ASl T 2400/ - o et degl 20% T
fireTeT ot frcer et ot 30% HIIeT 25 ?

1) 3600/~  2) 2300/~  3) 3000/-  4) 2600/

Directions for following 6 questions : Given below are six
questions describing a situation and is followed by four
possible responses. Indicate the response you find the most
appropriate. Choose only one response for each question.
The responses will be evaluated based on the level of
appropriateness for the given situation.

Please attempt all the questions. There is no penalty
for wrong answers for these six quetions.
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gl WgT WIS {AAT : @lell Jg T el Jmed A
TN T gedT feft Mg onfdr IHoR IR ufdfepan e

9eT . 87 : el PRGN AMRITT 3MEd. e fvmeiel
DS AR JFElell IRBRIT TebT el Hepeunell FrTeid

3. AT ¥ Il |aid Arg wfifear dicar. Tdw
YATRRICT Uepd qgiy fFigs). IR Hedie, fSetedn g
eHTd STITTEAT FRTER Pel ST,

FUAT A AT IR AT, IT AT TLATIT Fehredr SRSt
PIVCTE! S8 Pell STUMR ATaL.

Question no. 85 : You are a supervisor of a construction
company. While doing your work, you came to know that
the quality of material used in a building by the builder was
not up to the mark. When you informed about it to the
project manager, he tried to bribe and threaten you. What
will you do?
1) Report about it to any senior official.
2) Complain about the matter to the police.
3) Accept the bribe due to threatening.
4) Go on strike with all workers.
UeF 3. 85 : Tral Tl FiuehH el Feld sRqum=ar
HUHTT GORATITSR STERT. Tral P BRI STUBHATST
IIRUYTS 3Telel AR gt e 3RFedTd el gl
el AT el AT Tehedell ST SRIVIRIT eI
I A1edt feft uvg a1 TR I 9 URehl QuaTET SR
FRA 3T, 3T TR gl PRI IRIeA ?
1) aRkSiPs IETad Fgare yrard.
2) GifoRIThs THR PRI
3) YIRS AT YA TR I
4) |4 FHIIAT TSR TS I JHRIA.
Question no. 86 : You are the head of the department of a
Government organization. One question is asked in the
legislative assembly in zero hour session regarding your
department. So you have to sent an urgent report to the
higher authority. What would you do?
1) Place a written order to your subordinate for
sending the report immediately.
2) Give an order to your subordinate to send it by
speed post or fax.
3) Give an order to your subordinate through a
departmental letter.
4) None of the above
U . 86 : el WRBRI AUl Uebl AU T ATerd.
faefiHeerdieT g @ gaear faummelt fFrEld e e
RO 3TelT. AT T TR A JFelell AIehIcs
aREis NgdTel TAICR PRIGATIT 3Te. Tral DI DI ?
1) AHIE ITgdTdl UTSqudTal ol IR gEEl gue
HS fm=aTeT =T
2) Sele UIe fdhar o IIgaTdl UTeauaTaT ST
AU B AMfUH=IAT &I,

3) giewr vl wEgR T gEer afes
JTUBTATH ST T

4) FhAAUHT ATE.
Question no. 87 : You are working as an executive
engineer and one of the Jr. engineer in your department is
not co-operating with you in a new project of government.
Youwill ........

1) take away the matter from him after scolding.

2) raise the matter in a meeting.

3) complain about him to a senior official.

4) ask a written reply from him for not doing work.

BIFEY SAEDHR GRITT M8, Trel PRI PRI ?
1) a1 =Tl ATET SRR B el drhig S

BTG T
2) fAfSmed a1 g SIgawT Hed SufRd aId.

3) aRgiws a1 HHa=Te THER .
4) W 7 FRUAEEA T FHAI ol 9 ARG
e

Question no. 88 : You are a police officer. One night
during patrolling duty, you find a suspicious bag lying on
the road. What would you do?

1) Go near to the bag and open it.

2) Inform the nearby police station and ask for
immediate assistance as the bag could be a bomb.

3) Leave the bag as it is and go on your duty.

4) Keep the bag with you.
UeT 3. 88 : Trdl Ulford SIBRI SR, Il et Rd
gTeTd JRIAHT AR JFETeAT Uh HeRIRUG §7 ATUsSa! 3.
Te! DI I ?

1) SIoTa® ST geal <t STsTa.

2) STg<dT Qiferd Rl U qiFg IAUAT eraraalT

ST XY TS TTChTes Td! Hed TITe.

3) s Fefer FHT Tral TIA geIeT B ATe], JaTer.

4) @ S FFEl Ta:HS IaTa.
Question no. 89 : You are attending a formal meeting of
launching a new policy for rural development. The meeting
is very boring and unproductive as the members are not

reaching to a particular course of action. Meeting is going
on in your office. How would you react?

1) Pretend to have received an urgent call and go to
the back of your chamber.

2) Try to involve yourself and make the meeting
more productive and help the team in reaching a
conclusion.

3) Bear the delay as it would be rude to leave.
4) Try to postpone the meeting.
neT . 89 : yHiur et Al AdiH Uk axavaRITS
AU Poctal AR URU g foenm oad @ e [
HeTaToft g9 dTctell MR J PIoIHal HetfTsacl aid ATal 3y
ot fowa ome. ffdn e srierRa are] og. Jremaw! grer
BT Ufcrehar et ?
1) JFETell HEwaTEl B9 ST BN &6 gral davedr
HARTEAT IS SATel.
2) ey wfh wgum diggm &t SR o
Boerll g IS hied arauarar T FRIa.
3) fafdmdie fadis AT FRU1 HRUT 7YFT IgA SO0
IgSUUTR g

4) fafen ye smavaTeT U FHRI.
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Question no. 90 : One social organization which is
supported by political party gets violent and starts breaking
laws in an area. You are the district magistrate of that area.
How will you tackle law and order situation in the area?

1) You will reach at the incidence with police force
and keeping at a distance from the crowd try to
pacify them keeping the police force behind and
if the situation does not get under control, then
minimal action will be suggested.

2) Direct the police force to take punitive action.
3) Leave the place to save your own life.

4) Direct the police force to use tear gas and lathi
charge

T . 90 : TPHI ISThIT UET REpA chelell AHINID Fel
JRT S TRIT PRI T JAIAT foRpfosa awuamar wae
A MR, & (R oM™ v Riegr St a1 e
Te! BRI PRI ?

1) Qe a1 99 grel  HeARIS!  digard
qifeRIT AW 39 TR R g @i i
FRUITIT TI IR 9 IRIRIA FIAEmg S Mg
3R fgefw oncaw ofla wit FRAE IR
FaaTe.

2) $TP PRATEY A Tral TIoRIHT TTet.

3) a1 Siia qraEuaTaTet gFel figd e Sire.

4) 1% YR T ATSIEG! HIUITAT AT TIORIAT AT,

PAPER ENDS HERE
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gt grarer ifiicTet ST Tt Ao &1 HeRiT Sug, .

81, JTasHY WUl GI&T &g, JAST, gor
LI G|
i TSIl oMY g WalcpEdT &g, Al. arfsar Agrfaene™, qo
it s vl

YT TRV

9% : QN a0 3™ o7 : 200

@

e G& AR diad g FAWET et UM B a1 wieeelt sed &1 fhar wrel ue fhar wed Tge s
g T § IUNT. 9 I g1 Neaasi] Fdi9 U9 &I,

o feeiedT <epITa o TRia Al foreT. <1 Saiiiad a1 NeRiaeR gl forg .
T T TRHUT G T WAoo fImTelel 31med.
QU | O | g W THIAT SRS <8
g
qM -1 | 50 | 100 TS e YehedT ITRIAISH Uep Jferdiel o &g
9y -2 | 40 | 100 TS . 3. 85 o 90 RN T gehream SRS Ta e oram &

10.

11.

TP T LTS AT INIST 7 Bhchell 3. Tl YTl IR GI il 3mmgd. <amieh! 3T U iy faer i o
JreTel STRUMIBER AICraT 3. SR IFelell Thiem 31fie gafd sRIeR dred SRidial o) el Jrelell aIcuiRT [ard areg
T Ficar. P TS haw e T ST,
T 90 TGS YA IR (WA 1 g 2) TP 11 T QIR 1 AT Jobc Fralell ATATS! fetedl el IJTRubIchaRe Alcarr!
3Tee.
TS T ITRUBDT GURT 1 g1 R Hicel] STTsel. Hluargl IR aRgf~8 Hedre I Ut 1 For farfgan
QUIR AR
ITRUhaR g Aicfavargd! greren StRufider ARt wreh ong. & mnfecht greren Retear waer ufdnR oTR.
Fd T WY Aicgd g SR ST RIS AU Jralell Rideihis Hae SRUBA®T edrE! e, & 9
e STV FETell URATHT 318, QURT 12 ToudTgdl gral URISTEaIT STeR ST SebUIR Ta.
Hed P PRUIRITS! IT FeARATAT A9t gt ST feeft 3.
FhIeaT ITRIARIAT G :
TRAUBALY UL HHih 85 T 90 RIRGT | 1 A 2 AL SR Ui gobrd IR AG(Iunm=aT wrameffr <8 st
STE. 9T Hidh 85 T 90 AT YT FehiedT ITURIMIS! &8 Pl SR ATE.

) AP Ul IR WRf IR el ared. wWianea feledn Uit el ITRIATS! T WA Jfeied] U]

NCGIRUINE URCRY GICAR AT ISR
i) SR wemeai e TR Tehia SR SR Algiael] ok SR Tdiel T IR aRIR e aRigl O Stk gl
el STee] I IS IRV €% hell STsel.

i) SR TEREN YR SR AlGfderd T8 a) T WIS SIVAR! &8 dell SR AT
IT TR HR-2 HEY FHq 33 U FeiearTg RT-1 JURel Seer iy 3ifem fas I -1 /e frssTerean
1 T8 et R, 26.12.2015 Asit fohar @aaR SH=aT www.yashada.org/acec IT dqqTEcaR BT dhell SIS

St wia greren Hifidel S ATE Auda &1 deg Sug, @

Note : English version of the instructions is printed on the front cover of this Booklet.
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